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NEW QUESTION 1
Refer to the exhibit.

An IP SLA was configured on router R1 that allows the default route to be modified in the event that Fa0/0 loses reachability with the router R3 Fa0/0 interface.
The route has changed to flow through
router R2. Which debug command is used to troubleshoot this issue?

A. debug ip flow

B. debug ip sla error
C. debug ip routing
D. debug ip packet

Answer: C

NEW QUESTION 2
Which transport layer protocol is used to form LDP sessions?

A. UDP
B. SCTP
C.TCP
D. RDP

Answer: C

NEW QUESTION 3

A network engineer is investigating a flapping (up/down) interface issue on a core switch that is synchronized to an NTP server. Log output currently does not
show the time of the flap. Which command allows the logging on the switch to show the time of the flap according to the clock on the device?

A. service timestamps log uptime

B. clock summer-time mst recurring 2 Sunday mar 2:00 1 Sunday nov 2:00

C. service timestamps log datetime localtime show-timezone

D. clock calendar-valid

Answer: A

NEW QUESTION 4
Drag and drop the DHCP messages from the left onto the correct uses on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 5
Refer to the exhibit.

An engineer is troubleshooting BGP on a device but discovers that the clock on the device
does not correspond to the time stamp of the log entries. Which action ensures consistency between the two times?

A. Configure the service timestamps log uptime command in global configuration mode.

B. Configure the logging clock synchronize command in global configuration mode.

C. Configure the service timestamps log datetime localtime command in global configuration mode.
D. Make sure that the clock on the device is synchronized with an NTP server.

Answer: D

NEW QUESTION 6
Refer to the exhibit.

During troubleshooting it was discovered that the device is not reachable using a secure web browser. What is needed to fix the problem?

A. permit tcp port 443
B. permit udp port 465
C. permit tcp port 465
D. permit tcp port 22

Answer: A

NEW QUESTION 7
Refer to the exhibit.

After applying IPsec, the engineer observed that the DMVPN tunnel went down, and both
spoke-to-spoke and hub were not establishing. Which two actions resolve the issue? (Choose two.)

A. Change the mode from mode tunnel to mode transport on R3.

B. Remove the crypto isakmp key cisco address 10.1.1.1 on R2 and R3.
C. Configure the crypto isakmp key cisco address 192.1.1.1 on R2 and R3.
D. Configure the crypto isakmp key cisco address 0.0.0.0 on R2 and R3.
E. Change the mode from mode transport to mode tunnel on R2.
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Answer: AD

NEW QUESTION 8

Which attribute eliminates LFAs that belong to protected paths in situations where links in a network are connected through a common fiber?

A. shared risk link group-disjoint
B. linecard-disjoint

C. lowest-repair-path-metric

D. interface-disjoint

Answer: A

NEW QUESTION 9
Which command allows traffic to load-balance in an MPLS Layer 3 VPN configuration?

A. multi-paths eibgp 2

B. maximum-paths 2

C. maximum-paths ibgp 2
D. multi-paths 2

Answer: B

NEW QUESTION 10
While troubleshooting connectivity issues to a router, these details are noticed:

Standard pings to all router interfaces, including loopbacks, are successful.
Data traffic is unaffected.

SNMP connectivity is intermittent.

SSH is either slow or disconnects frequently.

Which command must be configured first to troubleshoot this issue?

A. show policy-map control-plane
B. show policy-map

C. show interface | inc drop

D. show ip route

Answer: A

NEW QUESTION 10
Refer to the exhibit.

Network operations cannot read or write any configuration on the device with this
configuration from the operations subnet. Which two configurations fix the issue? (Choose two.)

A. Configure SNMP rw permission in addition to community ciscotest.
B. Modify access list 1 and allow operations subnet in the access list.
C. Modify access list 1 and allow SNMP in the access list.

D. Configure SNMP rw permission in addition to version 1.

E. Configure SNMP rw permission in addition to community ciscotest 1.

Answer: AB

NEW QUESTION 11

Refer to the exhibit.

What does the imp-null tag represent in the MPLS VPN cloud?
A. Pop the label

B. Impose the label

C. Include the EXP bit

D. Exclude the EXP bit

Answer: C
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NEW QUESTION 12

Drag and drop the MPLS VPN concepts from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 16
Refer to the exhibit.

An engineer configures a static route on a router, but when the engineer checks the route to the destination, a different next hop is chosen. What is the reason for

this?

A. Dynamic routing protocols always have priority over static routes.

B. The metric of the OSPF route is lower than the metric of the static route.
C. The configured AD for the static route is higher than the AD of OSPF.
D. The syntax of the static route is not valid, so the route is not considered.

Answer: C

NEW QUESTION 21

Refer to the exhibit.

In which circumstance does the BGP neighbor remain in the idle condition?
A. if prefixes are not received from the BGP peer

B. if prefixes reach the maximum limit

C. if a prefix list is applied on the inbound direction
D. if prefixes exceed the maximum limit
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Answer: D

NEW QUESTION 22
R2 has a locally originated prefix 192.168.130.0/24 and has these configurations:

What is the result when the route-map OUT command is applied toward an eBGP neighbor R1 (1.1.1.1) by using the neighbor 1.1.1.1 route-map OUT out

command?

A. R1 sees 192.168.130.0/24 as two AS hops away instead of one AS hop away.
B. R1 does not accept any routes other than 192.168.130.0/24

C. R1 does not forward traffic that is destined for 192.168.30.0/24

D. Network 192.168.130.0/24 is not allowed in the R1 table

Answer: A

NEW QUESTION 25

Which statement about IPv6 ND inspection is true?

A. It learns and secures bindings for stateless autoconfiguration addresses in Layer 3 neighbor tables.
B. It learns and secures bindings for stateless autoconfiguration addresses in Layer 2 neighbor tables.
C. It learns and secures bindings for stateful autoconfiguration addresses in Layer 3 neighbor tables.

D. It learns and secures bindings for stateful autoconfiguration addresses in Layer 2 neighbor tables.

Answer: B

NEW QUESTION 28
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